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Read the following instructions carefully before you begin to answer the questions.
This Booklet contains questions in English as well as in Hindi Language.
vt & 3o 2 A ord A ol Rt A A AT |
T QR 3w 3l aur R 2Rt s A RA A €

Before you start to answer the questions you must check
up this Booklet and ensure that it contains all the pages
(1-28) and see that no page is missing or repeated. If you
find any defect in this Booklet, you must get it replaced
immediately.

wat & 3 23 ¥ e U 5§ R H Ja R/E
3w & fr 3wt Q¥ g8 (1-28) & auT % gB TR AT
gART @ 3w A & AR Iy W qfew & @ IR
U, af doae 8 dga gud YRaa @ w1

INSTRUCTIONS TO CANDIDATES

1. This Booklet contains 200 questions in all comprising the
following four parts :

Part-1 . General Intelligence 50 ti

Part-1l : English Language 550 8%:&2::;
Pant-1Il : Quantitative Aptitude (50 Questions)
Part-1V : General Awareness g (50 Questions)

[

In questions set bilingually in English and Hindi language, in

case ofdllscrepancy. the English version will prevail. -

All questions are compulsory and carry equal marks.

The paper carries negative marking. 0.25 marks will be deducted

Jor each wrong answer.

You will be supplied the Answer-Sheet separately by the

Invigilator. You must complete and code the details of Name,

Rall Number, Ticket Number and Test Form Number in the

Answer-Sheet carefully. You must also put your signature and

Left-Hand thumb impression on the Answer-Shect at the

prescribed place before you actually start answering the

questions. These instructions must be fully complied with, failing
which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERQO” mark.

6. Answers must be shown by completely blackening the
corresponding circles on Side-II of the Answer-Sheet against the
relevant question number by Black/Blue Ball Point Pen only.
Answers which are not shown by Black/Blue Ball-point Pen will
not be awarded any mark.

7. A machine will read the coded information in the OMR Answer-
Sheet. In case the information is incomplete or different from the
information given in the application form, such candidate will be
awarded ‘ZERO’ mark.

8. The Answer-Sheet must be handed over to the Invigilator before
you leave the Examination-Hall.

9. Failure to comply with any of the above instructions will
render a candidate liable to such action / penalty as may be
deemed fit.

10. The manner in which the different questions are to be answered
has been explained at the back of this Booklet (Page No. 28),
which you should read carefully before actually answering the
questions

11. Answer the questions as quickly and as carefully as you can.
Same questions may be diflicult and others easy. Do not spend
too much time on any question. ;
No rough work is to be done on the Answer-Sheet. SPACE
FOR ROUGH WORK has been provided at the back of this
Booklet. .. .
13. “Mobile phones and wireless communication devices are
completely banned in the examination halls/rooms. Cand_’:da!es
are advised not o keep mobile phones/any other wireless
communication devices with them even in switched off mode, in
their own interest. Failing to comply with this provision will be
considered as using unfair means in the examination and
action will be taken against them including cancellation of their
candidature.”
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PART-I : GENERAL INTELLIGENCE -1 | 5 \§H(5/

1. Out of the given altematives select one which (A) 142 (B) 148

exactly matches with the mirror image of the word.

mmw##mﬁmgﬁ?a’r (C) 144 (D} 146

Aa=fafl e & ador affea & g Premr

a Directions :

REASONING In the following 9 questions, find the odd

(A) 95A20UIKD (B) GNINOSAER word/number/letters/number pair from the given
alternatives:

(€) OUTUO2ATA (p)HEAZONIND e - Pefaf@a 9 wal & e av fowet 3 @
Ferwar eree: /e 3t/ dea oA it gfer:

Directions : 6. Find the odd word. / st 9152 m‘l‘gﬁm

In the following 4 i ‘o A

b o mgﬁgimquesn:;;: select the missing | (A) Spleen/ tolter  (B) Pancreas / 3v=amory

e : Praaffa 4 wat #, e oo Rt # 2 ¥t

qH 3 1 P (©) Eye/ 3ifa (D) Liver / ey (f39m0)

2.

(2] g =

wp + Find the odd word. / frga oreg aﬂgﬁ"m
A i i 2

(A) 28 - ( }Cmﬁilﬁfm (B) Condensation / a3
(C) Conduction / & D g ;

(C) 29 (D) 26 DITED. SN b

8. Find the odd word. / frwar yree & g

3.
4 i ‘_\5 3 ﬁ 7 A H}Langurfﬁ'o‘[{ (B) Whale / ey

2 5 F] (C) Scarab / (D)
- it Tt Donkey / 3181
(C) 28 (D) 37 9. Find the odd letters. / s a7t & g
(A) PRTV (B) LNPR
d, 3 G 2
(C) ACEG (D) MNPR
5] 12 |4 5| 18 |2 5| 7 |2
2 3 9 10.
(A) 18 (B) 16 Find the 0dd letters. / fmar 318wt & gfre|
(A) GHIM (B) PQSV
(C) 15 (D) 17
(C) BCEH (D) FUwy
2 Test Form No. 2427288
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11. Find the odd letters. / ey 3ewl =i R0
(A) MKHD (B) JHEA

(C) ONKH (D) XVSO

12. Find the odd numbers pair. / faws F&m I @

g@AmT
(A2, 11) (B) (3, 30)
(C) (7, 345) (D} (5, 128)

13. Find the odd number. / frws W& =t g
(&) 210 (B) 522

(C) 289 (D} 196

14. Find the odd number. / s Fwan & giav

(A) 121 (B) 144
(C) 189 (D) 169
Directions :

In the following 9 questions, sclect th_e related
word/lettere/number from the given alternatives:

fyEur: Breatataa o el 3 o e Reeaf # 3
Frateue o/ HaTd /AT B AT

15. Velocity : Speed @ : Veracity : 7
) B - R 1 11 o L

{A) Idea/ formmT {B) Falschood / 38T

(O Truth / FeT (D) Principle / Fgma

16. lodine : Goitre 1 : 2

WO e ?
(A) Fat : Obesity / @87 : AT
(B) Insulin : Diabetes / g=fai : ALHT
(C} Hormones : Haemophilia / @3 : Etsferam
(D)} Mango : Anemia / 313 : THITHAT

17. Doctor : Medieine :: 2. Judgement
etgey ; sty 2 : vl

(A) Lawyer / Zhrel (B) Count / #HTaTed

(C) Policeman/ (D) Judge / FATATTI
18 134:ACD::567:2

{A) DEF {B)y HIJ

(C) FGH (D) EFG

19, BONUS : ACNPMOTVRT : + BUCKET : 7
(A) ACMNMOTURT (B) ACT VBDILDFSU

(C) ACMNMOTVRT (D) SUOBN

30, ADFM :CFHO :: CFHO : 2

(A) EHQI (B) EHIQ

{CyEQHI (D) EHIR
1. 196:1372::256:7

(A) 2048 (B) 4048

(€3 3436 (D) 6344
2, 4240557

(A) 36 )32
23. 9:245::6:7

(A) 100 @9

g ke ®) 72

24. First a rectangular shape paper is taken, then it is
folded from left to right, then cut a circle shape
paper. When it will be opened which paper will
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i ions, which one set of leners
A the following 3 questions, W i ;
il,rheﬂ sequentially placed at the gaps in the givep

iyl s an : lete it?
uﬁ.uﬁmmmw%ﬂﬂ e serics shall complete it?
#aﬁmmarrrm%.mﬁqamm s 3 gl # et & ST

e v &1 58 A ST X e T T R e e T O R T A S
&me qjraiT o g P
AV e “ﬂm 28, opo__po_ppo__PPPo_0P_P
(A) opopooa (B) opoonop
O[] ]
(C) opopoop (DY) 000pPPe
25. Find the pattern and select figure from alternatives
which should come afier the question figures. 29, i i1 |
el e AR Wik (B) klijkkl
gfere 5t g Il & a1g AT
el (C) jklijkl (D) jlkijk
v anfert
OHOOO T
hm%m= (A) babba (1) abbab
ET D :

(A) @ (B) @ (C) baaab (D) abaab

D
< @ (D) @ 31. If the mirror image’ of a clock shows guarter past
three, then what is the original time?

ofe et ) &t dor ufafda 3.15 & wer effar

Directions &
In the fallowing 2 questions, from the given £ A T8 AL = ESFITI?
ahma'ivcl words, select the 'I-\'\l.'.ll'd which cannot be (A) 915 {B) 8,15
formed using the letters of the given word:
frder: Peafafle ust# ReorRe=ai #8 (©3.15 (D) 8.45
TE e gET S Ry e e & FERE & wEe
TR SACT ST ST HEA:
26. Happi 32, Sunder travelled 5 km towards Morth, then turned
APPIERS towards East and travelled 6 km, then turmed South
{A) Pine {B) Spent and travelled 5 km. How far is he from the starting
point? :
(C) Spine (D) Snipe gRas ol sm R amfragag g@ &

a3ttt 6 et & arar 6y, e ag gidior & g
27. Environment 3R 5 el & 2w ) o wee e & R
(A} Term (B) Rein E{t’k?

A

(€10 km / 10 3. (D) 6 km / 6 fom. 4T

Directions :

4 Test Form No. 2427288
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33. Four words are given. Arrange them in decreasing
order of the number of vowels occurring in the word,
cach vowel being counted with multiplicity. Should
there be a tie, use dictionary order.

A ar 9eg v amw § 52 e A 3 ay 't
& I &R # afiyg AT, vads me e
TEAAT & T e sveam afy 333 ok a, &
QAEZTIA F /A & gy Hifaw)

|, Assassination 2. Rejuvenation

3. Mississippi 4. Acrimonious
(A)4,1,3,2 (B)4,2,1,3
(©4,3,1,2 (D)4, 1,2,3

34, If + means x, — means +, ¥ means + and + means —,
then9x4+2-5x% [0+3="7

IfE + ﬂﬂ&{"j*%,-‘ﬂﬂﬂ*txiﬂ.}lﬂ'+%3ﬂ?+
FIHT -8, A1 9x4+2-5%10+3=7

(A)2 (BY . A
14
()3 (D) 2 1
10

35. Amrange the following words as per order in the
dictionary:

fAeafafaa et t e F Ry v A &
g o
|. Mischance 2. Mischievous
3. Mischief 4, Miscellaneous
(A)4,2,1,3 (B)4,1,3,2
(©4,31,2 (D)3,2,4,1

36. P + Q implies that P is the brother of Q, P-Q
implies that P is the mother of Q, whereas P 4 0
implies P is the sister of Q. Which of the following

implies M is the maternal uncle of R?

p+Qa 3 & P, Qe s R, P- QT I &
POQR AT saftr P Q@ 3 g fF P, Q &Y
afer &) Reafafan 4 A Fam g 3§ fF M,
R&AHATE?

(AAM-R+K B)M+K=Q

(C) None of these / 2131 A g T
(D) M+K-R

37. Select the figure which satisfies the same conditions
of placement of the dots as in question figure.

T T gfAT S wa AT & v g e
Y 2T Y O T A
Question Figure

WA e

@

Answer Figures:

3eC FTplaal:

(A)

1R [
{Ll@ %

38, Identify the diagram that best represents the
relationship among classes given below:

a1 31 wfere i 2 Ry T et &t Ha @
Té AT Y &

Earth, Milky—way, Universe

e, HTEHT-IM, FES
(B) Q) 0

(A) @ O
(D)

(B)

(D)

© QD

39, Identify the answer figure from which the pieces
given in the question figure have been cut.

% S Iepher wa difore s wa i # R

T 370 L AT R
Question Figure:

AT TR

17&
N

Answer Figures:

3R BTN
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40. Two statements are given cach followed by two
conclusions | and Il. You have to consider the
statements to be true, even if they seem to be at
variance from commonly known facts. You have to
decide which of the given conclusion, if any, follows
from the given statements.

a P R e § S 3 & Bed 1 ko
fvreY are E1 ot ae R eua aeg £ A
q&/ T WHEA: T T ¥ e vl @ 2
3muznt AT & § 5 e o Reput # 3 ol
wHT F ARE 77 ¥ =t gry w9 e o
el S8 &, afe e 2

Statements : 1. Some bricks are sticks,
2. Mo stick is red,
Conclusions : I. No brick is red.
[I. Some bricks are not red,

LT ST BA B
2. Y I oF A & &
fored: |, ¥ sfr &z armr =gl 3
. po&amadgs
(A) Only conclusion I follows.

Fad Ay | A g

{B) Only conclusion Il follows,

Fad ot 1| Srmaar )

(C) Neither [ nor 11 follow.
A& 13T &1 Fpear &

(D) Either 1 or 11 follow,
arar i ar ll RTaar

()

e :

41. Which figures have equal lrequency?
fora 31 &r wameT smgia
7897653428972459297647

(A)8,6,5 (B3, 7,5

(€)2,5,3 (D)2,4,5

42. Which one of the given responses would be a
meaningful order of the following?

1. Plant 2. Flower
3. Sowing 4. Seedling

for= a3 & 2 AT e Y R g oreey
o WY e G B2

1. gt 2.5

3. 933 4. 9 3T
(A)3,1,2,4 (B)4,3,1,2
(€)3,4,1,2 (D)3,2,4,1

43, ELEPHANT 15 written as 57589143, LEAP can be
wrilten as

ELEPHANT T 57589143 for@r ST7, & LEAP Ty
F s Ewar &7

(A) 5618 (B) 7518
(C)6712 (D) 6518
Directions :

In the following 2 questions, a series is given, with
one term missing. Choose the correct alternative
from the given ones that will complete the series.

forder : Peafaifta 2 wat &, o srgeer Ran &,
e ue ug gu &1 o o Reedt # 4 ag @

faeren AT St 35gea Y g |

44. 3,11,31, 57,91, 133,
(A) 181 (B) 143
(© 183 (D) 151

45, 8,16, 48, 96, 288, 576,
{A) 1052 (B) 1728

(C) 2880 (D) 1152

46, If + means x , — means + |, + means +, * means —,
then the value of 162 x 52 - 26 = 15+ 5
I+ HIE x, —FTr A T H 4 W
HYE - @ 162 x 52— 26 < 15 + S o7 A T

e

(A} 47 (B) 235
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(C) 875 (D) 215

47. A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by
two classes of alphabets as in two matrices given
below. The columns and rows of Matrix | are
numbered from 0 to 4 and that of Matrix Il are
numbered from 5 to 9. A letter from these matrices
can be represented first by its row and next by its
column e.z., 1 can be represented by 23, 32 ete. and
A can be represented by 36, 63 etc. Similarly, vou
have to identify the set for the word RIM given in
question,

U e dhdol Uah HEAT-HIHE N7 a2 o &,
star 5 Reeut & & fedr v o R o 3
faemeal 3 T 7T wear-waE 3 & ey auif g
aeffe arw &, st @5 e R o & sneg A &
-l FEmn sk dfE A EEm o R 4 H &
s & 3 amegE-l | fr s ¥ 9. 59 IRt A v
3BT @ 9ed 306 Ui 3 ag & ww g
TRT 22T S Tehell & Semedor & fAw 1 &1 23, 32
ife g g 5 G@ar & Fur A & 56, 65 IR
G ERIAT S AT &1 S olE @ IO wa A

few ereg RIM & Torw @oig & ugaras &1
Matriv =g -1 Matrixid=gg -1 °
of1]2]3]4 s[e[7]8]9
ol 1|Mjw]s|Q][5[o]A[RID|N
L[M[w[s[Q]1][s]A[R]|D[N]O
2[wls|Qf1|M] [7][r|D[N[O]A
IS{QI MW | 8[D[NJO{A|R
4[Q] 1 [Mmw[s] [¢IN[O]A|R[D

(A) 58,43, 34 (B) 75, 14,24

(C) 76,41, 34 (D) 58,43, 11

48, In a certain code TEACHER is written as
ZYXDOYK, and RAIL as KXQM. How will be
CHAIR written?
et iz 3 TEACHER & ZYXDOYK 3T RAIL

Y KXQM fymr 7ram &, at CHAIR &t 3y foran
STy -
(A) DOOQXK (B) DOKQX

(C) DOXQK (D) DQOXK

49, Two statements are given. You have to answer
considering the statement to be true, even if they
seem to be at variance from commonly known facts.

2r e R e & anuer RBe s FuEt & T
AT L WA A9 a2 § R ool
P g, s E

Statements : 1. James works in a factory.
2. He gels a salary.

WU : 1. S U ey 7 o AT gl
2. 30 499 a1

{A) James loves his work and his salary.

I Y 3T A AR HUST A9T 9HE B

(B) James gets paid for his work,
S B AW A T A A &

(C) James loves his salary.

S P T AT TS &

{D) James likes to work in a factory.

Sig el 3 @ o adE e B

50. In a box there are 5 different black balls, 3 different
white halls and 2 different red balls. How many
ways to select 2 balls but not bath same colowr?

e gy # 5 - e o € 1 -
= whe 912 € 3N 2 e o 9 ¥ -

Tt Tt &1 2 it &t go=y o fonetet alien €7
(A) 40 (B) 31
(C) 30 (D) 25
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PART-I1 : ENGLISH LANGUAGE

Directions : :
In the following Ten Questions, in the following
passage some of the words have been left out. Read
the passage carefully and choose the cur‘rect answer
to each question out of the four alternatives and fill

in the blanks.

Passage :

The first written number (i) is about 5000 years old
and (i) from the Sumerians in Mesopotamia. But
man wanted to specify (iii) even much (iv) of the
animals killed or reared. (v) the beginning, man
counted using the fingers joints on (vi) hand. Even
today young children are (vii) to count (viii) their
fingers. It is known about the Stone Age man (ix)
he used (x) by cutting notches in wood, bones and

56, (jii)
{A) gquantum

(C) quantitative

(B) quantities

(D) qualities

stones.
S1. {iv)
(A) early (B) earliest
{C) later (D) earlier
52, (vi)
(A) one (B) each
(C) every (D) our
53. (ii)
(A) came (B) coming
(C) comes (D} Is coming
54, (wiii)
(A} by (B) on
(C) through (D) with
55, (v)
{A) At (B) From
(C) Om (D) In

57. (i) |
(A) system {B) function
(C) oreanization (D) practice

58, (vii)

(A) teaching (B) teach
(C) teached (D) taught

59. (x)

(A) signs (B) marks
[C]- tallies (D) 5}r|'|'|hﬂ|

60. (ix)

(A) what (B) how
(C) when (D) that
Directions :

In the following Four Questions, out of the four
alternatives, choose the one which can be substituted
for the given sentences and indicate it by blackening
the appropriate circle [®] in the Answer Sheet.

61. An author's handwritten or typed text, submitted for

publication.
{A) Pamphlet (B) Manuscript
(C) Papyrus (D) Replica

62. With no particular order or plan.
(A) Hazard (B) Hazardous

(C) Hopeless (D) Haphazard

Test Form No. 2427288
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{A) To be able 1o count B) To complete a gam
63. A position or an office with no work but high salary. el s
(A) Sinecure (B) Tenure (C) To start again (D) To replay a game of
chess
(C) White collar job (D) Monarchy
70, As the crow Nies
{A) In a monotonous way (B) In a straight way
64. One who deals in furs.
(A) Tanner {B) Furrier (C) In acriss—cross way (D) In a circular way
(C) Lapidist (D) Drover )
71. 1f you are no spring chicken, you are
(A) inexperienced. (Bl not young,
Directions : -
In !he_ following Fluur Questinn?‘ four words are (C) adead chicken. (D) not energetic.
given in each guestion, out of which only cne word
is correctly spelt. Find the correctly spelt word and
mark your answer in the Answer Sheet, ; i
: A keac
65. Find the correctly spelt word. 3. Tosu or e :
i strum a guitar
(A) Whimsezal (B) Whimsicol {A) To hitthe wrong note  (B) To strumag
i thing familiar
(G Whimsical (D) Whymsical (C} Tobe reminded of something
{D) To hit the chords forcefully
66, Find the correctly spelt word. Directions : ,
In the following Four Questions, the first and the
fA) Femeversce {0} Ferinverenice last part of sentence are numbered | and 6. The rest
of the sentence is split into four parts and named P,
(C) Preserverence (DN Perserverance 0, R and 8. These four parts are not given in their
proper order. Read the sentence and find out which
of the four combinations is correct. Then find the
67. Find the correctly spelt word. correct answer and indicate it in the Answer Sheet.
) . ; 73. 1.1In his life time
S B {7 mmin P. and immense wealth
Q. Manpassant earned world-wide fame
. pa
(C) Intersession (D) Intercesion R. untimely end to the brilliant

5. But unfortunately, insanity brought an
6. career of this great genius.

(A) Bifferentiasion (B) Diferrentiation
(C) SPQR (D) QRSP
(C) Diferentiation (D) Differentiation
74. 1. He had spent
Directions : P. to see him off
8 Q. and [ was now

In the following Four Questions, four alternaives ow .

are given for the Idiom/Phrase underlined. Choose R. accompanying him across the river

the alternative which best expresses the meaning of S.a ﬁ:rrfmght withme

the Idiom/Phrase and mark it in the Answer Sheet. 6. for his long railway journey home.
{A) PRQS (B) SQRP

69. Back to square one

9 Test Form No. 2427288
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(C) PSQR Oy

75. 1. The history of India
P. human activity of Homo sapiens as long as
Q. 75,000 years ago or with
R. earlier hominids including Homo—erectus
5. begins with evidence of
6. from about 5,00,000 years ago.

(A) SPQR (B) PQRS

(C) SRQP (D) QSPR

76. 1. In this modem world of consumerism
P. both for the young and old
Q. who can defeat consistently
R. with its onslaught of
S. tempting advertisements
6. the desire to buy new products ?

(A) RSPQ (B) RSQP
(C) ORSP (D) PRSQ
Directions :

In ﬂ'll:r t‘u‘lluwing Four Questions, choose the word
Opposite in meaning 1o the given word and mark it in
the Answer Sheet.

77, Adversity
(A) Anger (B) Humility
{C) Humbleness (D) Prosperity
78. Perceptive
(A Unaware (B) Unconscious
(C) Indiscreet (D) Blunt
79. Dainty
(A) Harmful (B) Clumsy
(C) Dry (D) Afraid
80. Ferocious
(A) Practical (B) Rﬂssuring

(C) Strong (D) Genyle

Directions =
In the following Two Questions
R ! k ,as
given in Active / Passive Vojee, g‘:t:nte has
alternatives suggested, select the o of the f,
expresses the same sentence iy hmﬁv“hlch beg;
Voice and mark your answer i the f"'tﬂShr;-é Clive
81. Both his parents approved of his decision hees.
(A) His decision had been approved of
(BY His parent’s decision was Approved of by j;
- & I &
(C) His decision got approved by both his paren:"
3.

(D) His decision was approved by both his i
5,

82. You must keep your promises.
(A) Your promises must kept by you,
(B) Your promises were kept by vou.
(Cy Your promises are kept.
(D) Your promises must be kept.

Directions :
In the following Four Questions, some parts of the
sentences have errors and some are correct. Find oyt
“ihlch part of a sentence has an error and blacken the
CII‘l‘.:le [®] corresponding to the appropriate correct
option. If a sentence is free from error. blacken the
circle [®] comesponding to "No Error® in the
Answer Sheet.

83. Before every meal the head of the family would
provoke God's blessings.

(A) Before every meal (B)the head of the

family
(C) No emror
(D) would provoke God's blessings.

84. l‘have been invited to a party hosted by my cousin
sister,

{A) 1have been
(B) hasted by my cousin sister.
(C) No error (D) invited to a party

85. Dogs soon recognize the persons by whom they ar¢
kindly treated.

(A) the persons by whom (R) No error

10 Test Form No. 2427288
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(C)they are kindly (D) Dogs soon recognize

treated.

g6, He declared that he wore no man’s mantle.

(A) He declared (B) no man’s mantle. -

(C) that he wore (D) No error

Directions :

In the following Four Questions, a part of the
sentence 15 underlined. Below are given alternatives
to the underlined part which may improve the
sentence, Choose the correct alternative. In case no
improvement is needed blacken the circle [®]
corresponding to "No Ilmprovement” in the Answer
Sheet.

87. His determination was not shook by what people
said.
(A} was not shaked (B) Mo improvement

(C) was not shaking (D) was not shaken

88. 1 cannot barely wait for my birthday party.
(A) [ barely wait (B) No improvement

{C) I barely cannot wait (D) I can barely wait

§9. The observatory building is situated in a remote
corner of the zoo.

(A) No improvement (B) close

(C) distant (D) far

90, If you would have seen him perform in the London
Olympic Games, you would have been thrilled.
(A)Had you seen him (B) No improvement
perform

(C) If you have had seen him perform
(D) Had you been seeing him perform

Directions :

In the following Two Questions, a sentence has been
given in Direct / Indirect. Qut of the four alternatives
suggested, select the one which best expresses the
same sentence in Indirect / Direct and mark your

11

answer in the Answer Sheet,
91, "Hurrah ! said the girls, we have won the match by
an inning."
(A) The girls exclaimed happily that they has won
the match by an inning.
(B) The girls exclaimed happily that they had won
the match by an inning.

(C) The girls exclaimed happily that they have won
the match by an inning.

(D) The girls exclaimed happily that they would
have won the match by an inning.

92. The children said that they wanted to go on a picnic.
(A) The children said, "We want to go on a picnic."
(Bl The children said, "We are wanting to go on a
picnic.”

{C) The children said, "We wanted to go on a
picnic.”

(D) The children said, "We will want to go cn &
picnic.”

Directions :

In the following Four Questions, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the

Answer Sheet,

93, Previous

{A) After (B} Earliest

{C) Latest (D) Former
94, Mayhem

{A) Excitement (B) Jubilation

(C) Havoe (D) Defeat
05. Rely

(A) Lean (B) Trust

(C) Betray (D) Depend
96. Cessation

(A) Start (B} End

(C) Pause (D) Resume

Test Form No. 2427288
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Directions :

seplences given

. tions, :
in the following Four I:E:m:: Iwilh e ppropriate

ille
with Hlanks 10 be fil
: rernatives :
ot :hr: correct alternative 0 e
it by blackening the appropriy

d indicate
four an o aswer Sheet

circle [@] in th
g7, Steve had always

(A} bespake

(C) bequeath
a8, | never

{A) think of

{C) dream of
09, This ship is

(A) bound of

(C) ound for

100, If you
first class.

{A) indulze

(C) adhere

sted for each
o SRE ut of the

hoped that his father would

perty Lo him.

(B) disclaim
(m bescech
guch a resull.
(B) dreamt of
(D) dreamed of
Ceneva.
(B) destined to

(D) bound to

in your studies, you will get a

(B) persevere

(1Y) nsist

12
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PART-II1 : QUANTITATIVE APTITUDE (HTT-111

. FEaeH® HRTF)

101, The angle of elevation of the Sun when the length
of the shadow of a pole is equal to its height, is

g FN FeeTq DIV 3 qAG e 30 &1 g
& S T & o A dars sEdh FuUrE &y
erch 87

(A) 60° (B) 30°
(C) 45° (D) 90°
102

CIf -i-ut‘flﬂﬂ is x % larger than %% of T100, then
XI5
Tfe 2100 T %mmuis é%m%mﬁm
&t x R 62

(A9 (B) 90

()25 (D) 75

103. i 2
If (a+_} = 3, then find the wvalue of

a

e S B | N - S
2
2 (as1) - 5, a
oAy
alliad 8 2 0 1@ wE A

ffao)

(A)-1 (B) 1

©27 )0

104, The average monthly income of a family nl‘_‘ 4
earning members was 76,250. One of the eaming
member died, thereby, the average became 76,500,
The monthly income (in rupees) of the deceased
was

4 FATF WeEdt g W aRar & sita A
HIT 16,250 | U PATH WeEd B 7Y A T,

13

portal.in

e 3ffwa ama 26.500 @ 98| 7 weww H

ATTHS 1 (303 ) fraah oy
(A) 5,000 (R) 6,000
(C) 5.900 (D) 5,500

105. Tushar borrowed a sum of T12,000 at 15% per
annum from a money-lender on 13" January, 1987
and return the amount on 8" June, 1987 to clear his
debt. Then the amount paid by Tushar to the
money—lender to clear his debt was

TEN A 13 =gl 1987 @ el wgraa §.15%
oft ad oy 712,000 $ T 3UR & IR 0=
HOT i & T 8 S, 1987 @Y g afY avw
dter &1 & GUR &R 19T HOT g & o

e Y Reerely Y 3y i g
(A) 211,394 (B)y 712,720
(C) 13,650 (D) T15,330

Dhirections :

The bar graph shows the foreign exchange reserve
of a country (in million US §) from 1991-92 to
1998-99, Based on the bar graph answer the §
questions.

& : 2w O A% # FRET & & 1991-92 &
1998-99 am & fagM FEr Hsw @ (o=
HATERY sier ) e 7ar &) 585 ATUR @ 5
it o 3 Y

3=

Vs i million U5 3

Fenfierory arifirad) ey of ey

ANTTITENT

NAL 180 SR MM K K 9l o

Vears |l
For which year, the percent increase of foreign
exchange reserves over the previous year is the
highest?

& T8 B e 3 o ad el ag siew
RrRre i s 2ire

Inﬁl
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(A) 1995-96 (B) 1998-99

(C) 1994-95 (D) 1992-93

107. What was the percentage increase in the foreign
exchange reserves in 1997-98 over 1993-94?

1993-94 P geren 3F 1997-98 3 Tl e HSW

3 frea wftrer g% 887
(A) 100% (B) 90%
(€) 110% (D) 80%

108. The ratio of the number of years, in which the
foreign exchange reserves are above the average
reserves, to those in which the reserves are below
the average is

5= et 3 el gy siem e sER & w9
o =1 et a1 3R S anf & s e A F
A1, 37 Tl T T T &2

(A)3:7 (B)4:7

(C) 5.3 )3:5

109. The foreign exchange reserves in 1997-98 was how
many times that in 1994957

1997-98 3 el F[eT H3R 1994-95 Y Forar 3

férerer aom e

(A) b5 (B) 2.6

(C)2 (D)35

110. The t'orre{gn exchange reserves in 1996-97 were
approximately what percent of the average foreign
exchange reserves over the period under review?

1996-97 3 fa2eM 33T s/ walemrher safly &

3T RN e HBR o o Ry e
a7

(A) 3% (B) 125%

(C) 120% (D) 100%

14

.

is melted and cast into identical cubes of edge 3 E;n |
Number of such identical cubes is :

Bom * 4cm ¥ Zﬂtﬂmmw&'ﬂmaﬁ
mlcmﬁmmmﬁﬂﬁ‘iﬁmm
%) z=1 WA °aAl B FEAT ot gufie

(B) 4

111. A solid cuboid of dimensions 8 cm < 4 ¢y & -

(A) 8

(C) 10 (D 16

112. A man walks a certain distance in certain time, ihe
had gone 3 km an hour faster, he would have takep
1 hour less than the scheduled time. If he had gone
2 km an hour slower, he would have been one hoyr
longer on the road. The distance (in km) is

U T TS TAS A T G0 T Tole &) 3
J¢ U el 3 7hl O I 2T o 39 PR
TG A | T B o] I 9% o "ey 2 Fly
il T W A 30 WIF W S "oy wfiw
o171 gy (e 3 forae &7

(A) 45 (B 65

(C) 80 (D) 60

113. The length of a rectangle is twice the breadth. If
area of the rectangle be 417.605 sq.m.. then length
is
TP AT Y oA wisS & PN ¥ Ak ma &
BRe 417.605 @3 2. &. 3y Fard Rraei 22

(A) 29.08 m/at (B) 29.80 m/#

(C) 28.90 m/afy (D) 28.09 m/#fY

114, If a t:l_'m_ir sold for X600 at the profit of 20%, then
the original price of the chair is

afe v it 20% & o Uz 2600 F aH E B
air gl o ot P FT Y
(A T580 (B) 1480
{C) 2540 (D) T500
I15. The centres of three circles of equal radii, touching
Test Form No. 2427288
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each other externally form afan
ST ARTE: TR T A AT o ary sy
gt o g T T e

(A) Right angle triangle / aiepolir fagsy
(B) Isosceles triangle / Hafgg_:ﬁ ﬁ’ﬁ'
(C) Equilateral triangle / Farsgsr Rt
(D) Scalene triangle / ﬁ’.rmqm1§ ﬁ'(sI‘;[

116 307

hevaveor T B
Th valuauf‘ﬁ_i-\ﬁ T F mts
Wi 5.3 2.2

BB Al T e
&

(A) | (BYD

© 2h ™) 7

117. How much percentage above the cost price should a
shopkeeper mark his good so that after allowing a
discount of 10%, he should gain 26%7

T GG I T Fea § Tovcta 30 e
HU A U 3T e TR R 10% & §e

& P AE 30 26% & AT WH 7
(A) 25% (B) 140%
(C) 40% (D) 16%

118, 30% of the students in a class has mobile phones,
10% of the students who have mobile phones has a
bluctooth facility. If the class has 200 students, how
many have bluetooth facility?

U e A 30% orEt 6 wE A B §
e P @S arer ot # § 10% & o
cog graw &1 A e & 200 O ¥, A B

Tl o UTH ey GRYT 7
(A)2 (B) 6
©8 (D) 7

119, In A ABC, O is the orthocentre and 2 BOC = §0°,
the measure of 2 BAC is

AABC . O v &% & 3R 2 BOC = 80°, &Y

£ BAC &1 3110 m 2me
(A) 1207 (B) 90°
(C) 1007 (D) B0®

120. Ifx:y=3:5 and x —y = -2, then the value of x +

¥ is
gREx:y=3:53x-y=2drx+ywAA
T 2

(A) 2 (B)5

(C)8 (D)3

121. Successive discount of 10%6, 20% and 25% on the
price of an article will reduce the price by

frel aeg v 10%, 20% I 252 v A
e ¥ a5g Fr Fea e w1 @ Smie
(A) 55% (B) 45%

(C) 46% (D) 54%

122. A isa point on the x-axis with abscissa— 8 and B is
the point on the y=axis with ordinate 15. The length
of AB is

A 95 - 8 A x-3187 0Y Tag & 3R B Hera 15
ATy y-31eF 0 g ¥1 AB & oiars v &7

(A) 19 units/gfE (B) 21 units/fAE
(©) 17 wits/giAe (D) 23 unitsigfae
123. a 7 b 3
R e ib:iei
]fb 9°c SJhEI'I'th"h'ﬂII.IEUfa cis
ﬂﬁ‘3=l.3=§,;ﬁa:h:ca¢rmwﬁnﬂ?
b 92¢ §
(A)T7:9:5 (B) 21:35:45
(©7:9:15 D)7:3:15
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B4 If sinﬂ=%. then the value of sec § — cos B is
(where 0° <8 < 90% )
afe ﬁlB=-;~.ﬁ'lsecﬂ—mﬁHﬂirmHWﬁlﬂﬂ
(TET0° <9 < 90°)
A ® e
ayb® —a’ m
© a® (D) a
m by/b? —a’

125,

| — 1+sn 8 fi—sin B
Vi-sne Vi+sme

UeHET ‘{—_I+’?G+JI-":”'3M
l1-sm# l1+sm @

(A) 2sec 8 (B)2tan @

is equal 10

T E?

(€) 2(1=sin )]
cos @

(D)}2sin @

126. The diameter of a circle is 10 em. If the distance of

a chord from the centre of the circle be 4 ¢m, then
the length of the chord is

Uh 6 T 10 cm 1 aFE 7 % 5 & Sy oy
gl 4emg, a‘la‘lmﬁr-iﬂ#ﬁﬂﬁ#?
(A) fcm (B)3cm

(C)5em (D) 4 cm

127. The rate percent of compound interest on 710,000
amounts to become ¥13,310 in 3 years is

10,000 Ty mmﬁuﬁmﬂwm
fasaguﬁlja&ﬂﬂlsmﬁm?

(A) 13% (B) 11%

(C) 12% (D) 10%

128. If the external bisector of the vertical angle » A of
the A ABC ispu-allelmthebnmﬂc, then the
A ABC is a/an

ﬂﬁaﬁﬂcﬁﬁhﬁmzhmﬂmﬂm

16

HURBCH EACH & A AABC gy

(A) Right-angled (B) Isosceles TR
axmnfiE
(C) Scalene Rrwararg (D) Equilateral e
Directions :

Study the following pie-charts carefully an4
answer the 4 questions.

ﬁim;ﬁmmaug‘mﬁﬁma@m
yegE AT IR 4 wit & o3 A

Pie-chart/Ois-a1é(1)
A=Sdence favm

B = Management - W
C=Ans %=

D = Commerce / mifer=g
E=Caeing am-ym
F = Engineering ' fsfwfm

Pie-chart/Tig-a1é(2)

(1) Percentage distribution of candidates studying

in various discipline of a college. Total number of
students = 5000

T SRR Reen Rt # gw e -
3000

(2) Percentage distribution of
discipline of the same
= 2000

34 s & U Fwg 3 wfint @ ofe
Ferewo) H‘Sﬁm’iiﬁ'lgm'#c;qn 2000

The number of girls studying in Engincering
I!licip!ineis

$ONFET v # uet oy st 1 W
forewtr 47

(A) 180

gifls in each
college Total number of girls

129,

(B) 220
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(€) 240 (D) 260

130. The percentage of the number of gir
Catering discipline comparing to the
of students in the college is

qerar & Rndan &2
(A2

s studying in
total number

(B) 8

()4 (D)3

131. The disciqline which has the highest number of
boys studying in it, is

9% B A 9w S oz o msat
TET T HiOw &7

(A) Management / warsy (B) Arts / &t
(C) Commerce/arfoTsw (D) Science / =y
132. The percentage of the boys studying in

Management discipline comparing to the total
number of students studying in that discipline is

Y T 3 ITT F I TS H A
=4 v 3 3T w6 A ol i FA g
&1 e A Tt #2

(A) 48 (B) 58

(C) 64 (D) 63

133. If the length of a diagonal of a square is 6+/2 em,
then its area will be

o fralt g & Reol & Fas g2 om &l

ST ErAne fhctaT gl ?
(A) 24.f7 em? (B) 24 cm’
(© 2 cm (D) 36 cm’

134, The length of tangent drawn from an em:msil point
P to a circle of radius 5 cm is 12 cm. The distance
of P from the centre of the circle is

17

(

(C) 13cm

135,

> em RS art g & ared fig P & dieh
Wﬁ'&[ﬁﬁmu:myqﬂmhﬁpzﬁ]@
fraeh &7

A)7em (B)9 cm

(M 12cm

1
In two days A, B and C together can finish S ofa
work and in another 2 days B and C together can
finish %paﬂ of the work. Then A alone can

complete the whole work in

a1 =t 3t A, B 3y C fraew %mwﬂ?{m

® 3 3wrer 2 fREt # B 3 C fmaw %mre’rq;rr

T T & mémmmﬁmﬂﬁﬂﬁ
T &Y Hall 67

(A) 15 days/ T2 (B) 12 days / fae7
(C) 14 days /= (D) 10 days / &
136.

sec” 70° - cot® 20°
2(cosec*59° —tan " 31°)

a)

= —, then m i5 equal
m

to

o J— P
sec” 70 —cot™ 20 2
T ——= —, dr m 5O
J(cosec”59 ~tan~31) m

A BT
(A) 4 (B)2
1 (D)3

e If E=f—1=5.then ;z::zisequﬂw
a c¢ Ja+dc

afg E-E-S,a‘r H,mﬁ?ﬂ*mm?
(A) 60 (B) 15
(5 (D) 20
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138. A water reservoir has two inlets and one outlet.
Through the inlet it can be filled in 3 hours and 3
hours 45 mins respectively. It can he emptied
completely in | hour by the outlet. If the two inlets

are opened at | pm and 2 pm respectively and the
outlet at 3 pm, then it will be emptied at

U ST 3 & TN wrsy 3R ves Rew gy
o WO U3y A 3 A 3 g 3T 3 v 45 ae
& o0 o W ¥ REw g e | g F
o el @R S ween §1 AR @Et vaw gey
AW A | TR 3N 2 7o W B Tt o
s omT @ dww 3 o W A A g
et ot T 2 sy

(A) 5:30 pm / T 5:30

GE |

(C}5:20 pm / & 520 (DY5:55 pm / WRT 5:55
T CE |

(B)Spm /@G STy

139. The length of a room is 3 m more than its breadth.

If the area of the floor of the room is 70 m?, then
the perimeter of the floar will be

UF FEAY A Fars sEdh il d 3 m wfs
afE @AY @ B dEwa 70 w7 E At wf
Q@A = Eene

(A) 28 m (B) Hm

(C) 14 m (D) 34 m

140. A gun is fired from a fort. A man hears the sound
10 seconds later. If the sound travels at the rate of

330 m/sec, find the distance between the fort and
the man,

U oot I &g & e TS S &) v cufn
B ST AT 10 Fhg aE GO & &) AR
e 330 FA W A ot & & e i sm

zafth & dta & gl aamw
(A) 3.3 km / Foraft (B) 0.33 km / fray
(C) 33 km / Foraf (D) 330 km / Rpsy

141, The number 142° - | is divisible by

18

142° - | g fred Rursa &2

(A) 19 (B) 9

(C) 13 (D)7
12 032 %47 -

A 247 (B) 168

© 363 (D) 252

143, Two vessels contain mixture of petrol and kerosene
in the ratio 4 : 3 and 3 : 5 respectively. The ratio of
the volumes of the quantities from the two vessels
to be mixed together so that the new mixture may
contain same volume of petrol and kerosene is

&) adat 3 Ui 3 AR o s maer 43
3R 35 & Iqua & &) A adat F & frw
Y # A B R W 5=% B
o S 76 =1 Rt & a9 s SOde 6

AET HAH &) Fw?
(A)9:6 (Bld:2
(€)7:8 (D)7:4

144. ll‘a:b=4:5,h:c=S:Gand¢:d=ﬁ:T,th:n
azeis

giga:b=4:5b:c=5:63 c:d=6:7, 3"
a:c T EET?

(A)3: 4 m2:3

(C)4:5 D)ys5:6

145. ) 1
If2cosp—sing= E.[ﬂ“gg-:m“}fhamlue

of 25ing +eozpis
1

A 2008 B —sin@ = — (0°<h <
JE‘{{I =0 =9

ar 2sin B + cos B T HeT AT

{B}ﬁ

W 3
i3
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3 m 1
7 N5

(C)

(46. BY **
o 135
When he sells the same at 3.

AT
ﬁmmﬁﬁﬂﬁuﬁmmmmﬁrﬂnﬁ?
(A) Profit 5% / TI3T 5% (B) Loss 5%/ @fa 5%

(C}j.usﬂ%fg:rf?{ 7% (D) Profit 7% / &1 7%

L If nJ; = J],_l_l + /343, then the value of nis
I 1=

m?
(A) 13 (B 7
©1 (D)3
48 If 1 =§.+1 . then the value ofa’—b'is
at+th a
3 k1 3 _ b AT T BT
=——t— a —
w® a+bh a
(A2 (B) 1
(C) 8 (D)3

149, Each wheel of a car is

the speed of the car in em/sec. would be

wmzﬁrmqﬁmuﬁrmsﬂmm
| 2w o e 84 da & o o

JM/dE F w geEfie

(A) 264 cmisec
264 AW

(B) 1320 cm/sec
1320 33

(C) 1000 cm/sec
1000 A

(1) 420 cmisec

lling some soods at 131, a salesman loses 7%
5‘:5 output. Find the percentage profit or loss,

131 3 A9 W, AeEIA I WD
ez, R 7% 1 E el T, T 5 W it 335

112+ +f343. @l n & A0 F=T

making 5 revolutions per
second. If the diameter of a wheel is 84 cm, then

19

420 A

150, The average monthly salary of 15 workers in a
factory is 2285. If the salary of the manager I:s
included, the average becomes ¥355. What is the

s salary?

mm?n?;;ﬂ“;% mz;ﬁiﬁraﬁ'a?{mﬁmﬂaﬂ
ﬂssmﬁmnﬁmaaaaﬂmﬁﬂﬁm
m,a‘raﬁmﬂssﬁmmqﬁwmrm
AT &?

(A) 71,450 (B) 31,430

(C) 31,405 (D) T1,400
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PART-IV : GENERAL AWARENESS (HNW-1V :

AR SADI)

151. How many languages arc there in the Eighth
Schedule of the Constitution of India?

R & WRuE & sl et & Rraeh

saTd E7
(A) 19 (By 22
(€18 (D) 16

152. Who was the first speaker of free India?
T He & WU 0 $iF 47
(A) Smt. Sarojini Naidu
At TS aArag
(B) Frank Anthony
ther Gl

(€) K.M.Munshi
.. HM

(D) G.V.Mavalankar
A FaET

153. The chemical name of Baking soda is
#ﬁmﬁmmmﬁmmwa?

(A) Sodium hydroxide
WEaA grsgiznes
(B) Sodium acetate
Ll ET Ryt s
(C} Sodium bicarbonate
AT azTRte
| (D) Sodium carbonate
; aitTw FEiae

I54. Which one of the following gases has colour?

fPrafafiE & @ st o e o Bich &2
{A) Oxygen (B) Nitrogen

HFeirtet AR

{C) Chlerine (DY Hydrogen
FAR TR

155. Which of the following is used as raw material for

the manufacture of rayon?
Wa & A & P deY AW & owg @
Petafla # & Rraa vaer R smar i,
(A) Cellulose (B) Petroleum
(C) Coal (D) Plastic
BT et

156. Which of the following command delctes the data
in the entire table and makes the delete permanent
in the database?

ﬁmﬁﬁa#ﬁmmm{hmasmaﬁ
et & & 3R zrerda ¥ Refle # el @ o
&7

(A) Truncate (B) Rollback
e e

(C) Commit (D) Delete
HiAT el

157. The point on the Earth surface directly above the
origin of an earthquake is known as

T B e W T & I & 8 3w ¥ Rig
T Tt B2
(A) Medi Centre
e
(C) Epicentre
Bedhe

(B) Prime Centre
I &
(D Hypo Centre
Ha: &g
158. Heterothallism was discovered by
Rrearanforar i et frwy $y ot
(A) E.. Butler
SN TTR
(B} AF.Blakclee
U.U%, colahalt
(C) LH. Grai gie
oUW, Aafy
(D) B.B. Mundkar
a3, e

159, '\‘f"hich famous scientist was the first to look at the
might sky through a telescope?
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gfEg dfee d wduuw e &

e
L B RIE! F FTHA EET?
Galileo (ByC Erpfmicus
()b &
Michacl Faraday
- FrEEd IS
(m Mewton

160. State with highest percentage of forests is
for T 3 AT &1 WaTed UiAvE T
(B) Mizoram

(A) Untar Pradesh
[EElee

Tad WeRT
() Arunachal Pradesh
FOTE U

(D) Assam
A

161. May 8 is observed as
8 o7& T w0 3 HAATAT AT 7

(A) World Red Cross Day
Ty Yz o fead
(B) Commonwealth Day
ez Eaw
(C) World Telecommunication Day
faar gRaiaR feew
(D) World Standard Day
Ryg AT T

162. The conductivity of a super—conductor is
R dzere 1 Arernal el el &
(A) Zero (B) Infinite
=

{C) Small
im0

(D) Large

163. Thillana is a format of
fawr= e wide §7
(A) Kathak
&eldh

(B) Kuchipudi

21

(C) Odissi
A

() Bharatnatyam
HId=CaH

164. The number of days for a year in hflcrcur'j is
qu 877 3 o ad # & T el @it

&7

(A) 36 (B) 38

(C) 300 (D) 36

165. The Vice President of India may be impeached by

R ¥ sTrpeta o v ReEd gRT e
Sl " 87
(A) Vidhana Parishad
ferar-oiime,
{B) WVidhana Sabha
fru=m-war
{(C) Rajya Sabha
I "HAT

(D) Lok Sabha
I |

166, The part of a transistor which is heavi!y d!:lptd o
produce a large number of majority carriers is

;—iﬁmﬂﬂﬂ?aﬂﬂmgﬁl‘r#ﬁmaﬁrmﬁ
Feir aTed Scuse v & fa ATy A A
afta rar AT 2

(A) Emitter (B) Gate
al
(C) Enllector (D) Base
HATD YR T

167. Sodium chloride or table salt occurs in nature as the

mineral
wepta 3 O S AT WA RS I
S AT Bl BT RS AT 82
(A) Sphalerite (B) Halite
(C) Tale (D) Sylvite
o Feae

168. Lichens developing on rocky substrates are called
TETTe Fol O ARd TerTE o T T B
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(B) Terricolous

e
(D) Saxicolous

(A) Lignicolous

(C) Corticolous

GUrAC I r:

169, CENVAT is related to
e o Hay A E7

{A) Service Tax

HAT T

(C) Excise Duty
3PS e

{B) Custom Duty
| g

(D) Sales Tax
fahr vt

170. Which of the following is the right expansion of
TRIMs?

fAeafafaa # & o TRIMs a7 7 e e

(A) Trade Related Industrial Measures
o3 Roifes Zefecaw das
(B) Trade Related Innovation Measures

<= R sanem #ory

(C) Trade Related Investment Mcasures
s Neifte sdedie Ao
(D) Trade Related Information Measures

<3 Reifes gwmie st

171. When an explosive shell, travelling in a parabolic

path under the effect of gravity explodes, the centre
of mass of the frapments will move

oI IRDOT & UHF F 3T Wraerd o &
MMMWWQ.H?MHQ&
P A dhe; e AR oo aar &2

(A) First horizontally and
path

Uﬁﬁﬁimﬁﬂqﬂﬂﬂﬁﬁw#m*
ey

(B) Vertically downwards
FRATR A oy Hiy

<) A!::-ng the original parabolic path
e WITARIE 9 & FrI-Hry

(D) First vertically
downwards

T IR W A 3R R BT Seainy
A dr v

then along a parabolic

upwards and then vertically

172. Ommithology is the study of

qefi-Rrae frgaT g e
(A) Birds (B) Bees
HFET
(C) Crustaceans (D) Insects
Eord
173. Dengue fever is transmitted by the vector
7 @R fore WA g Hafka dar s
(A) Aedes aegypte
wErs ofacdt
(B) Culex fatigans
TR BT
(Cy Anopheles culcifacies
TATTthellal et aT
(D) Mansonia uniformis
FAHTATT AT
174. Breaking logical memory into blocks of the same
size called as
eIl AR P HHAA 3R & et 7 2t
L Y AT o E7
(A) Frames (B) Packets
() e
(C) Pages (D) Segments
st A
175. The foundation of modern cartography was laid by
AR FARIT Far 5 g frga fear
qme
(A) Aristotle (B) Plato
R, coret
{C) Homer (D) Socrates
Lt AT

176. The State which has the highest yicld per hectare of
potatoes in India is

AR A JE BT w1 oy} ot g B9

SR NI weffires ey 27
(A) West Bengal B) Puniab
Ry o (B) Punja

Test Form No. 2427288

Downloaded From: http://sscportal.in



Downloaded From: http://sscportal.in

GIECELE]

(D) Rajasthan
RAE Pl

”'T. \]irh‘;l:h- lrl!ﬂt}’ Dﬁnﬂudt‘d Ih¢ First w:'ﬂd war?
for S0 & WA 10 g, g
(A) Treaty of Tashkent
e |
(B) Treaty of Versailles
aiew WY
(C) Treaty of Tilsit
faafie #f
(D) Treaty of Berlin

178. The Lakshadweep Islands are situated in the
TRTENT SR el e &7
(A) Noneof these
S TS 710
(B) Bay of Bengal
I & WE
(C) Arabian Sea
G HEY

(D) Indian Ocean
fée FeraR

179. Taj Mahal is said to be suffering from "Marble
Cancer", What is Marble Cancer?

FEl I & TR areTe Ade A O o €
g A HHT FaT &7

(A) Acidic rain which corrodes marble.

el aut 3 AR 1 &R B! B

(B) Smokes filling the Taj Mahal from adjoining
industries.
ey saiit & arstered 3 YT T

(C) Yellowing of marble on a/c. of soot particles.
Fratel 0T 5 TROT AN BT el T

(D) Large no. of fungus in Taj Mahal marbles.
ATSTHEH & Ao & a81 TEAT 3 HIb =11

180. Which of the following classical economists gave a
systematic theory of Economic growth?

frfafem & ¢ fre e ufafa sehne &
e Rierg o caafa fgE fear?

23

(A) T.R. Malthus

I, Freww
(B) David Ricardo
312z Rrared
(C) Adam Smith (D) J.S. Mill
et fowry .0,
I81. Nagarjun Sagar project is on the river
AR APR st feg 7d) 0T 7
(A) Sutlej (B) Krishna
HddA T
(C) Narmada (D) Kaveri
BE Al GGE
182. The recapitulation theory was proposed by
eIt Fivgier famere oot faar e
{A) Weissmann
e
(B} Emst Haeckel
¥t e
(C) Morgan (D) Muller
A el
183. Which State Legislative Assembly has the

maximum strength (number of members)?
forr v faus-wan #F wewt fr 3Owaw
HET§?

{A) Bttar Pradesh
ECRCRl
{C) West Bengal

af¥rs gane

(D) Andhra Pradesh
HIYT U

(B) Maharashtra
HEE

184. Mohiniattam dance form developed originally in
which of the following states?

Afeelisrees qeg vu o Rem Paf@a a a

e FaeT Tro 3 game
{A) Karnataka (BLKerala
GG
(C) Odisha (D) Tamil Nadu
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affaas

s

. ence of
’ 'hﬂlﬁls in thﬂ pﬂ:ﬁ
automobile €

1:01:; fﬂ"ﬂﬂrimﬁufﬁg fafRT b

. Reactions of
185, conight leads
y &

maﬂ?ﬂﬁf‘

icel fog
(A) Fhmchﬂﬂlc
T JE
- = 5
(B) Photodynamic reaction
E B G
() Photochemical smOZ
- TraTa A g

(D) Photosynthesis
TERR-GEeT

186. Vardhamana Mahaveera attained Parinirvana at

T e o uffET el e e

(B) Saranath
AR

{A) Pava
urn

(C) Vaishali
derrelt

(D} Shravanabelapola

187, Indian Banks have the maximum foreign branches
in

HRIrT e it el e fadelt amand &7
{A) Bangladesh (B) Sri Lanka

AR Hreient
{CLULK, (D) US.A,

7.5, UL

I188. What is the number of players on each side in
Baszeball?

Mﬁﬂmﬂﬁ#ﬁﬂﬁzﬁaﬁmm
BT g7

(A} 9 (B) #5

(©n (D)7

189. Mame the person who started "Young Italy’,

Down

ermeatim A 4 Feell 6 YR o
(A) Garibaldi
Harest

(B) Victor Emanuel

et I

(C) Count Cavour

G LTAE

{D.I ]o;:ph Ma.?.ztm
AT

100. The first Indian woman to reach Olympic finas 3,
individual track events was

cfera @ FoEd # NENE S am

(A4) P.T.Usha
. & 3T

(B) M.D. Valsamma
e &1, FerEaA

(C) Shiny Abraham
T FATEA

(D) Ari Saha
HRA IS

191. Cement factory workers are prone to

wdie el & Froedt o = 9§ waaE
T 87
{A) Leukemia
A

(B) Cytosilicosis

LET | B Ea e

(C} Bone marrow disease
RiE=ir e Eard
(D) Asbestosis

THEEE

192. When the money supply rises, then LM curve
T T A e ¥, o v ww
(A) parallel to the horizontal axis
A 3wy HHIT TEar
(BY shifis to the lefi,

2
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arf il A SRl
(©) ohifis to the right.
i 3T 8 S 1
0] does not change at all.
RFg A6 gaoaT|
193, A South Rajasthan tribe earning its living by song
and dance is
- HO SR FAE ard gfEd
T S Bl H e
(A} Mayas {(B) Khasis
T Tt
{C) Moaors (D) Garasia
o i

194, The power of Supreme Court of India to decide the
dispute between the Centre and States falls under
its
SR 5 SEaH ST & # AR aedl & 4T
Foranz, &t ST et @bt v s e e

ge
(A) Original Jurisdiction
Atfores sfremian

(B) Constitutional Jurisdiction

wifraam siteien
(C} Advisory Jurisdiction

(D) Appellate Jurisdiction
et faateEr

195. In the Sun, heat and light are produced by
T 3 s 3R et s g T Ad 87

{A) MNuclear reactions
SR AT

(B} lonic reactions
I wfhfe

(C) Biological reactions
A s

(I} Chemical reactions
THES stk

196. In which language did Babur write his mEemoirs
called "Tuzuk-i-Baburi'? .
TR A FoD-C-aal ARE O T [Egil

wrn F AE A
(A) Maongol (B) Persian
I
(1C) Turkish (D) Arabic
el

197, The twin planet of the carth which resembles in
size, density and mass is

(g2l s T T AR A W A A, A

i e 3 g S R e ¥
(A) Venus (B} Mercury
U EA
(C) Mars (D) Jupiter
A

19%. Who is called the "Grand Old man’ of India?
s ey i 3ives #e R e S 7

(A) Jawsaharlal Nehru

SATEAATH FEe
(B) Mahatma Gandhi

FHETHT T
(C) Gopal Krishna Gokhale

oA T e
(D) Dadabhai Maoraji

e

199, Dwarf plants can be made taller by applying
gty et e s 3wguiTeT A ofar o S wenar

7
{A) Cytokinins (B) Dormin
zifde

{C) Auxins (D) Gibberellins
[EPHGE:)

200, AP.J. Abdul Kalam, the former President of India,
is the author of the book

ARd ¥ qd tpef vhS areem wee e
qEE & AEE 67

{A) The Wings of Fire and Ignited Minds
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¢ 78 31 RR U8 $915¢S AlGesH
(B) None of these
3 & IS 7

(C) The Algebra of Infinite Justice

& Toolal A Sahamse dfeey
(D) Four Fires and Death of Fire
TR BRI U 3 3% FRIy
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